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In Exercises 7-12, graph A JKL and its image after a
! reflection in the given linc. (See Example 1.)
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In Exercises 13-16, graph the polygon and its image
after a reflection in the given line. (See Examples 2
and 3.)
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In Exercises 17-20, graph ARST with vertices R(4, 1), = ( \03 s (7, V) T ( 63 )
S(7, 3), and 7(6, 4) and its image after the glide . . LN
reflection. (See Example 4.) s ( Zo) S ( 7’1') R ( é. Z)
17. Translation: (x, ) > (x,y — 1)
Reflection: in the y-axis
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18. Translation: (v,y) > (x — 3, ¥) @’ )\'2) 5“(_'7/.'5’) T ( 3,’6)
Refiection: in the line y — — 1| @ Y (‘/’5') 5"( 7)')J "y ( 2 00}

19. Translation: (x, y) = (x, vy + 4) ‘ P L ]_
Reflection: in the line x = 3 2t () ") T(e.d)

20. Translation: (v, ) > (x + 2,y + 2) @ R)Cé'\?> s (‘\"5‘) T',(f,é)

Reflection: in the line y = x

v (3l (%) +(¢,¢)

21. Reflect ALPQ over the liney = 2x — 1, given L(3,1), P(4,-2),and Q( 1,-3).
Graph ALPQ, the line of reflection, and AL'P'Q’, all on the same graph.
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